#26-1 101 &% 1F 1T PES

RlEE A F & p B % ¢ ISR EAERE IRAAERPHEREE

1 77 44 a4 34 i 4 — i Iy — g G r it Py
pH i 75(25.1°C) | 7.8(25.1°C) | 7.4(251°C) | 7.3(25.1°C) - - - -

h 9.16 9.41 9.20 9.43 60 - 30 -
A N.D. <0.100 N.D. <0.100 20 5 10 2
4 N.D. N.D. N.D. N.D. 20 5 10 2.5
4 21.7 21.1 19.0 18.1 250 - 175 -
4 23.2 16.5 49.9 45.3 400 200 220 120
4 27.8 26.8 33.4 28.1 200 - 130 -
4 18.1 16.1 19.0 19.9 2,000 500 1,000 300
& 84.8 82.4 150 123 2,000 600 1,000 260
T N.D. N.D. N.D. N.D. 0.2 - - -
EET N.D. N.D. N.D. N.D. 0.04 - - -
i N.D. N.D. N.D. N.D. 05 - - -

E TR N.D. N.D. N.D. N.D. 60 - - -
Y N.D. N.D. N.D. N.D. 0.04 - - -
EyT N.D. N.D. N.D. N.D. 20 - - -

T 2 N.D. N.D. N.D. N.D. 60 - - -
ETEs N.D. N.D. N.D. N.D. 0.6 - - -

DDT 2 H j2 4 N.D. N.D. N.D. N.D. 3.0 - - -
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5.2 T AERPHEE - (T AR RS > AM100E 10 31 p
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%262 101 &% 2F 33T PSS

B HERS HER IEFLEFIEEE JEAAEPRER
He 5% 71 P 34 ja 4 34 i 3 —y G v pu — i Xy
pH i 8.0(24.8°C) | 8.0(24.8°C) | 7.7(24.8°C) | 7.2(24.87C) - - - -
b 9.21 9.24 10.4 10.3 60 - 30 -
A <0.100 ND <0.100 0.122 20 5 10 2
4 ND ND ND ND 20 5 10 2.5
4 26.1 24.8 38.2 31 250 - 175 -
4 28.5 327 37.1 41 400 200 220 120
4 52.3 455 63.8 97.4 200 - 130 -
4 21.9 21.8 28.6 318 2,000 500 1,000 300
& 134 130 130 115 2,000 600 1,000 260
R N.D. N.D. N.D. N.D. 0.2 - - -
o ETy N.D. N.D. N.D. N.D. 0.04 - - -
g N.D. N.D. N.D. N.D. 0.5 - - -
THL 1 N.D. N.D. N.D. N.D. 60 - - -
gy N.D. N.D. N.D. N.D. 0.04 - - -
EEY N.D. N.D. N.D. N.D. 20 - - -
:m;gg 2 N.D. N.D. N.D. N.D. 60 - - -
ERTES N.D. N.D. N.D. N.D. 0.6 - - -
DDT % H j74 # N.D. N.D. N.D. N.D. 3.0 - - -
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% 26-3 101 # % 3F 1T pRSE

Bl LA HERS 7] % IESLEHIEREE IESATREREE
W 38 D 34 2 Iy jm — G (i fB — i a7 (g B
pH & 7.9(24.8C) | 8.0(24.8C) | 6.6(24.8C) | 6.2(24.87C) - - - -
b 7.7 8.38 7.23 8.13 60 - 30 -
A N.D. N.D. <0.100 <0.100 20 5 10 2
4% N.D. N.D. N.D. N.D. 20 5 10 25
4 235 24.7 20.6 20.5 250 - 175 -
4 17.4 17.2 317 324 400 200 220 120
4 28.2 28.3 27.8 30.4 200 - 130 -
4 18.9 18.7 24.3 25.5 2,000 500 1,000 300
& 83.3 82.9 112 113 2,000 600 1,000 260
Bt N.D. N.D. N.D. N.D. 0.2 - - -
T N.D. N.D. N.D. N.D. 0.04 - - -
i N.D. N.D. N.D. N.D. 0.5 - - -
THE 1 N.D. N.D. N.D. N.D. 60 - - -
T N.D. N.D. N.D. N.D. 0.04 - - -
THR N.D. N.D. N.D. N.D. 20 - - -
:;zm 2 N.D. N.D. N.D. N.D. 60 - - -
ERTES N.D. N.D. N.D. N.D. 0.6 - - -
DDT = H j=4 4 N.D. N.D. N.D. N.D. 3.0 - - -

A3 8E L E FIRE
5,435 4 L RIRE
6.v & & =y-¥

[EPdE%:
7 Pl Tk
L +a-7

14k p #1019 11 p
2.8 =% mg/kg 5 N.D.# g f& 143 1 o4&

37274 T W Bk B MOt £ AR MBIk R () B
BiE#EE - A®I00£1"* 31p
BiRES > AR1I00& 1" 31 p

pES 'E‘ /? @' (MDL)/}%&

%~ ; DDT 2 # j74 4 =4,4’-DDE+4,4’-DDD+4,4’-DDT




2264 101 &% 4% T plEE

Bl R B % P R ImAAEHIEER IHES LT RpHEEE

eS8 P 4 2 A 4 3 2 w2 - A G (T B - A G (T P
pH & 7.6(24.8°C) | 7.6(24.8°C) | 8.0(24.8°C) | 8.1(24.8°C) - - - -
i 10.7 10.2 9.01 8.89 60 - 30 -
& <0.100 ND <0.100 <0.100 20 5 10 2
Y ND ND ND ND 20 5 10 2.5
y=3 27.9 26.4 24.4 25.9 250 - 175 -
Eid 33.2 30.8 30.5 28.4 400 200 220 120
4 35.9 33.9 31.9 35.0 200 - 130 -
& 28.6 24.4 24.4 24.9 2,000 500 1,000 300
& 120 111 127 124 2,000 600 1,000 260
& N.D. N.D. N.D. N.D. 0.2 - - -
R N.D. N.D. N.D. N.D. 0.04 - - -
e N.D. N.D. N.D. N.D. 0.5 - - -
A1 N.D. N.D. N.D. N.D. 60 - - -
FEE N.D. N.D. N.D. N.D. 0.04 - - -
TEE N.D. N.D. N.D. N.D. 20 - - -
THE 2 N.D. N.D. N.D. N.D. 60 - - -
ER IS~ N.D. N.D. N.D. N.D. 0.6 - - -
DDT % H ji74 4 N.D. N.D. N.D. N.D. 3.0 - - -
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